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Review ,~Z 3
(G Preview
4-36. See below:

a. The slope means that for every increase of one ounce in the patty size you can expect to see a price increase
0f $0.74. The y-intercept would be the cost of the hamburger with no meat. The y-intercept of $0.23 seems
low for the cost of the bun and other fixings, but is not entirely unreasonable.

b. One would expect to pay 0.253 + 0.735(3) = $2.46 for a hamburger with a 3 oz patty while the cost of the
given 3 oz patty is $3.20, 50 it has a residual of $3.20 — $2.46 = $0.74. The 3 oz burger costs $0.74 more

than predicted by the LSRL model.

c. The LSRL model would show the expected cost of a 16 oz burger to be 0.253 + 0.735(16) = $12.01. 16 oz
represents an extrapolation of the LSRL model; however, $14.70 is more than $2 overpriced.

4-37.m=-% ,(3,0), (0, 2); See graph below.
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4-38. See below:
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4-39. (2), (b). and (d)

4-40. See below:
o
b.b*
©.9.66 x 1071

d.1.225x 107

4-41. See below:
ax=1
3
_is
b=

4-42. See below:
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a. Answers will vary. Students may say negative because “in-town” prices can be higher than prices in the
outskirts, or out-of-town families may grow some of their food. Students may say positive because
transportation costs make out-of-town prices higher, or out-of-town families eat at restaurants less. The
association is probably pretty weak.

b. The y-intercept is halfway between 11.27 and 7.67, so the equation is g = 9.47 — 0.14d.
c. For each additional mile from church, we expect families to pay $140 less for groceries this year.
d. $8860

4-43. See below:

ax=-7
box=-1
c.x=9

d.x=34
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4-44. See below:

a.4/240.56 = 15.51 cm
b= V481.12 = 21.93 em

4-45. See below:
2152
b.8x
.6
d.7x
4-46. All equations are equivalent and have the same solution: x = 4.

447.x=6x-15




